Assignment 19
15.2.7 Find the area inside r = 1 4+ sin @ and outside » = 2sin 6.
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15.2.12 Compute / / sin(z? + y?) dy d.
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15.2.13 Compute / / 22y dy dx.
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15.3.1 Find the center of mass of a two-dimensional plate that occupies the square
[0,1] x [0,1] and has density function zy.

U | 2 | | ! 2 ‘,_
M= &%x}el.adx: g F%lvci%/ ;(02\471—\7,%\0/7;;
D D
, AN 1x - ‘ S ,L—,\'s I
o= § 0 ydnde =\ 2T des 2=



15.3.2 Find the center of mass of a two-dimensional plate that occupies the triangle
0<xz<1,0<y <z, and has density function zy.
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15.3.3 Find the center of mass of a two-dimensional plate that occupies the upper
unit semicircle centered at (0,0) and has density function y.
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15.4.1 Find the area of the surface of a right circular cone of height h and base radius
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15.4.2 Find the area of the portion of the plane z = ma inside the cylinder 22 + y? =

ﬁ(m) = wm K ’@T;""‘ ’Qd"’
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